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1. 9% Z@RT 49 Hded H WHId f6U AT Hia-amsd 8T & HUR W/ 39 faf@a wem &
fow 3RS frar T g WA # &
TR IR Aeerar adt ) # oY o snafiar srnedepd X & s
You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. WeA-9, 180 WRAT ¥ FFT WRA-YRFAF F FT H § AN 7w v @@ 0362 g

The Question paper is in the form of Question Booklet with 180 questions and the duration of the fest is
03 hours.

3. R faFedt afga aegfass wor & wea g foe & Rk o amieoe &9 & @& g

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, 9AF T F AT 01 3% g9 3R oa A & foU He ¢ Frer S|

Each question carries 01 mark. There will be no negative marks for the wrong answers.

FIAT GET T ¢W/P.T.0.



10.

1.

12,

yet & 3R & & T Feer Rl gfa s seer vAsm sw-giEa & sl
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

IR SAN/EFTRN T F Sause 9 A AN SR-GRETH F TR daer B 3ifEa w
GEY 3AT A IIT LT gl

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

Teh 93T & TAU 3AF I e 3T AT S0
Mulitiple answers for a question will be regarded as wrong answer.

IR el wiY F Afed UA-9fide & HIg H WNEHRN -G A U W ' W
Greoificliyl

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

SRA-GRETHT H 3MYHT ATH TN ITHATT Tl (ol

Enter your Name and Roll Number correctly in the question booklet.

NTANR Fa-gfasr & e wfaftear Aelvaeh @R & dfa ageda & & & S @i
All entries in the OMR answer sheet should be with blue/black ball point pen only.

qdeTr g Afers fr 3ofeufa F @ o gia-Ree W aFaEr Fer @it
You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

ffa i e I T § i F, FETe. ANEd B g 39 geeiew
IYHIVT, UISH-TEdS, Al e o $ Faqafa st § roahi

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

14.

15.

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

wA-qReaeT et Iue 9 @ e §
The question booklet can be retained by the candidates.

afieT & e ATt A G0ET gl BIsa @1 AT A &

Candidates are not permitted to leave the examination hall during the examination.
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Fiaelcay g+ (SHaf@aAr) / POST GRADUATE TEACHER (BIOLOGY)

PART -1

Select the opposite of the word ‘Coarse’

(a) Crude (b) Fine

(¢ Medium (d) None of the Above
The one who collects postage stamps is called

(a) Philanthropist (b)  Philatelist

(¢) Telepathist (d) None of the above
Addiction to books is called

(a) Verbomania {b) Kleptomania

(¢) Bibliomania (d) None of the above

To disinfect with smoke is:

(a) Immunize (b) Fumigate
(¢) Surrogate (d Resort

_ — was late for the event. Everybody was well on time.

(a) Everybody (b) Nobody

(¢) Somebody (d) Anybody

I have completed my homework all by

(a) myself (b) us

(c) ourselves d I

He was —————————— on time. He is always punctual.

(a) spot (b)  enact

() well {(d) none of the above

You need a lot of ———————— when you are solving mathematical equations.
(a) concentration (b)  concentrating

{c) concentrate (d) concentrated

He ——————— for 2 hours since morning.

(a) has been waiting (b)  1is going to be waiting

(¢) has waited (d) will be waiting

Several Indian —————— have made it to the Forbes list 2023. (Select the word with
correct spelling)

(a) enterprenears (b) entreperneurs

(¢} entrepreneurs (d) enterpreneurs
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

FdA & AR §

c

(2) U (b)
(¢) FoT (d)

3YAT HT faasT orsg §

(a) 3Ia¥ (b)
© 39T (@
IFAIYT & 0 UF A

o8 3ftsr By = &

(a) HTFd (b)
(© NN (d)
R U F U 3T &

(@ & (b)
(© faam (d)

TEI HH H M0

a. 3ooT T Y b. UF ¥ 8| o TIUAT & &)

(a) cdba (b
(¢) adcb (d)
T 7 & o9 g
(@) | dEit f AR s @ (b)
(¢ e e & e gar (d)
PRRT § ¥ 3eN-aRar i s A8 Y
(@) Wrhd (b)
) HEpd : @
‘T A g
(@ 3Ior "ier (b)
© dgigd® (@
TWETGH # Geu-faeae &
(a) ® + AR (b)
(¢) HET + A ()
YEREY R
(a) dEH (b)
(¢) THT (d)
4

d. SaT &

dcab
abed

et i g
donfe #adg g

B + ARTEH
g + T,

1G]
&erer
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21.

22.

23.

24.

PART 11

WA <8 Gear = 39 FF J1 ¥ T F1ar 27

The Indian Penal Code has now been renamed as

(a) RO AR qLam gfgar/ Bharatiya Nagarik Suraksha Sanhita

(b) AR #a1r Higar/ Bharatiya Nyaya Sanhita
() ST wew Higar / Bharatiya Sakshya Sanhita
(d) 38/ ¥ FI$ AT 5T/ None of the above

IPCC % fRArafa ¥ §
The exi)anded form of IPCC is
(a) Indian Panel on Climate Change

(b) International Panel on Climate Control
{(¢) Indian Panel on Climate Control
(d) Intergovernmental Panel on Climate Change

GDP &1 faraiia &7 §
The expanded form of GDP is

(a) Gross Domestic Produce (b)  General Domestic Practice

(¢) General Domestic Products (d) Gross Domestic Product

e FaAeh F=r &
What is Mission Karmayogi?

(@) G T FFORET T gHar [AEOT & v v iAeEa Reor J/

An Online learning platform for capacity building of all government employees

b) HRT ¥ T & JoHold & foT te TSN 3UHAUT / A government initiative to

eradicate poverty from India

(© 3T TR &7 38T IR AT F B 3 GeTiiast HIAT &/ The mission aimed at

Cleaning and Rejuvenating River Ganga

() HRAT HAEET & EREoT Fal FT fAEAT T T AT/ The scheme to extend

the vaccination cover of the Indian population
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25.

26.

217.

28.

dIe8 R8T AR 3R & @7 gfauef e I
BOLD KURUKSHETRA is the bilateral defence exercise between India and
(a) TR¥/Egypt (b) TIFT INT AR / UAE

(c) A@"«'TI"_:IDTJ' Singapore (d)  #NHT /Sri Lanka

RS TIHR @RI JqgRd Sfa/3aRd Seelid T ARt § i seafar @ gemar &
& fov Fia @ Ao gF i T A9

Which scheme was launched by Government of India for promoting entrepreneurship among
Scheduled Castes/Scheduled Tribes and Women?

(a) TIE HT SfFAT/ Start Up India () T2 39 f3ar/ Stand Up India
(¢ R FEE/ PM KISAN (@ 9w FHA/PM KUSUM

UDAN AT fFe A6 @ 4% &1 71§ 4n
UDAN Scheme was rolled out by which ministry?

(a) 7§ FAed / Ministry of Home Affairs

(b) T3 HAET / Ministry of External Affairs

(© P& 3834+ FATeIT / Ministry of Civil Aviation

(d) T8I HATA / Ministry of Defence

Her AaEr o 2020 MEE #F FE gfdeaat & @t ggs Shar?

Neeraj Chopra won Gold at the 2020 Olympics in which event?
(a) BFT Y/ Hammer Throw ®b) die 9< / Shot Put

(¢) &mar % / Javelin Throw (d ARSI/ Archery
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29.

30.

31.

G20 @y FFAeT 2023 F T FFaEF @R HT M52
The presidency of G20 Summit 2023 was held by

(a) #ARA/India
(b) ®H/Russia
{c) ‘&R_l;cl'?f 5T HANST/ United States of America

(d) I/ France

g TgI5c TR fRad garu feram T m am
‘The White Tiger’ was written by

(a) 3%l T/ Arundhati Roy b)  fToT 291$ / Kiran Desai

() 3R 32/ Aravind Adiga (d) 3NTH. IRET/ R. K. Narayan

FEOT T AS TF 6000 F94 § foF Ay & a1 g ganr awiar g

Krishna has to set aside Rs. 6000 for monthly expense. The list below shows where the money

is being spent.

farstelr 31K & / Electricity and telephone : Rs. 1000
%437 / Cloths . : Rs. 500

Histet / Food : Rs. 2000
76T vd 37 / Education & Others : Rs. 2500

IfE AfAF T FT 9IS AIE AT ST A ool HT FieT AT AWT s a7 Fr g

If a pie chart is constructed, what portion of the circle will represent food expenses?

(a) 1/2 by 1/3
(0 14 (d 1/5
7
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32.

33.

34.

35.

qod Gl A AT

Find the missing number

@ 5 b) 2
c0 4 (d) 6

80H T 60% T 50% = ?
50 % of 60 % of 80 =17

(a) 54 ) 5O
() 44 d@ 24

Afr 8 ¥ 58 aF $T G dEA¥ S 3 ¥ Pl W § 3aR IR FA F cgaiead
She, ar 108 T W ST O g7 gei?

If all the numbers from 8 to 58 which are divisible by 3 are arranged in descending order, then
which number will be at 10t position?

(a) 36 ® 39
{c) 30 @ 27

o¢ o9 B, D, C, M, J iR K& de-iet & &Y wogt # Rasnforer Rpam 7 § v oy it 7
@1 fFuT T &, A1k uw O # Ue e gud ufEd F el & O e @1l M
el o OfFa & 3T F G ¥ A IF SR W E ST CF IR ¥ K, DF @18 3R ¥ AN
M¥F a8 farfaf@d & & qost & FiF o a5 v @ dfed #

Six men B, D, C, M, J and K are split in two groups of three each and are made to stand in two
rows, such that a man in one row is exactly facing a man in the other row. M is not at the
ends of any row and is to the right of J, who is facing C. K is to the left of D and is facing M.
Which of the following groups of men are in the same row?

(a) BMD (b) BDC
(© MJIK (@ S q FF ¥ AET/ None of the above
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36.

37.

38.

39.

40.

“EPROM” &l Addd &

“EPROM” stands for

(2)

(b)
(c)

Erasable Programmable Read Only Memory

Erasable Programmable Random Access Memory

Electrically Programmable Read only Memory

(d) None of the above

"R &

“Nibble” is

(a) 241ScH /2 Bytes (b)
(¢) g% age/ Half of a Byte (d)
vssc@zmail.com H VSSC & T Addd £7

What does VSSC stands for in vsse@zmail.com

(2) WA/ Domain ®)
(¢) YAl At / User Name (d)
geeie @ A ST THhal &

Internet can be considered as
(a) 32T/ Database (®)

() WAN (GY)

#eaF 2H A, 'www' FT Add9 §

In network address, ‘www’ stands for

(a) World Wild Web (b)
(c) Web World Wide (d)
9

1@/ 1bit

1478< / 1 Byte

B¢ / Host

qdr / Address

LAN

IYSFd H ¥ FIS 787/ None of the above

World Wide Web
Watch World Wide

1498



41.

42.

43.

PART - III

TF Ao fad A §9 @ ol # FET A § G 9o H A A & @ g
AT A &

A technique which basically involves encouraging students to prepare for the lessons before
taking the class is

(a) T W@/ Self learning (b)  f¥ercs #8T/ Flipped classroom

(¢) AFARFFUIA / Gamification (d =T {3/ Discussion method

Frafafad # 9 a0 R Fingg Rewor Hir fadwar =& 22
Which one of the following is not a characteristic of teacher centred approach?

(a) T FAHR FT FEAT B g I W ¥ AT R Jraw &/ Large sized classes are

handled very well

) aRfad a1 3T HFuRomsi F e @R @ GESFET S § / Unfamiliar or

abstract concepts are directly explained by the teacher

{c) =7 3R 98T & fav Wy 3_13113?1' 3UTEY § / Enough scope for discussion and debate is
available

(d) Teifd sroasws §HT W qU AT S WFHAT €/ Courses prescribed can be completed in
time

ao 7 gy v A F R F B wdfeaw B ¥

The best method to study the growth and development of child is

(a) HANTAWTOTcAS® AT / Psychoanalytic method

(b) JeAATCHSR faf&r / Comparative method

(0 TasracAs AT/ Developmental method

(d)  TifEahg fafel / Statistical method

10 1498



44,

45.

46.

47.

i T AR THer & TR F Rewr Al F aoa-eard & i a@r wRor gew 87

Which step is prominent in the syntax of teaching model of memory level and understanding

level?
(a) I / Planning (b)  3=awor/ Exploration
() THGIEHIIT / Generalization (d) Qﬁﬁf / Presentation

afg el o= f w=fls 3 5 af 3N FeERiAE g 498 8, aed @1 1Q T g

If a child has mental age of 5 years and chronological age of 4 years, then what will be I1Q of
the child?

(a) 125 ® 75

(c) 120 (@ 110

et 31 & ITER Fhed Uh ——— HEAT § 3N e v —— wfehar g1
According to John Dewey, school is a ———— institution and education is a
process.

(o) T, WTATTSE / social, social

(b) T, Ereifaes / social, philosophical

(¢) ardifae, i / philosophical, physical

(d) ugTEaReiE, AAaTia® / environmental, psychological

geR Raor &

Micro-teaching is

(a) T80T F F FAT 3T/ Scaled down teaching
(b) W T80T/ Effective teaching

(c) #Aediea AeT0T/ Evaluation teaching

(d) aTEafds TABTUT/ Real teaching

11 1498



48, Foat $ e f FET F agEeT w3 F gy B o g2

49.

50.

51.

52.

Identification of learning gaps of children and plugging them is done through
(a) & TABTOTTERT / team teaching

(b) IELGHIGE ﬁTH'UTE@'IT” reflective teaching
(¢) 3IUAGcA® [NEIUT €aRT / remedial teaching
(d) YA: RI&ToTZ@RT/ re-teaching

Prfafae F ¥ fra Ruror elrd # 93 A F ST AT 82

In which of the following skill, teaching of previous knowledge comes?

(a) wEA el / Skill of demonstration

(b) | gaTaeT @i / Skill of introduction
(¢ 389 gRad=r @ferel / Skill of stimulus variation
(@ wFYF aierer / Skill of closure

fa@rg & PSRN Usg & dicdd &
The term PSRN in development implies
(a) problem solving, relationship and numeracy

(b) perceptual skill, relationship and numeracy
{c) problem solving, reasoning and numeracy
(d) perceptual skill, reasoning and numeracy

3R TRIF 3 - HATE F S Pl 87
Who is the father of genetic epistemology?

(a) 3d/Dewey () AR / Vygotsky

(c) ¥ /Bruner (@ T/ Piaget

Qe & drE § 9FaT B gow F AU S & 9 @ @l AT B
The use of technology to enhance learning process is called ————in education.

(a) I TE AR WSS / Information and Communication Technology

(b) FIT WEAIRIH / Information technology

(¢) TAR WEAAH / Communication Technology
(d) qQiae-q1ge Elﬁﬁ / Power Point Presentation

12 1498



53.

54.

55.

56.

517.

58.

Aeafaf@a & & #l FaFcAs AT ¥ FaiUaT a8 82

Which of the following is not related to cognitive domains?

(a) JTT/ Knowledge (b) Bﬁm / Application
{c) H\?ﬂﬁ { Valuing (d) HHASTET/ Understanding

e TR 1 Hediea ReniEl & Saa f $77at 3R sieasar S ggae Fdr g2
What type of evaluation identifies learning deficiencies and difficulties of the learners?
(a) TSI/ placement (b) AIcHS / summative

(©) TR/ continuous (d) =AerfA® / diagnostic

ARENERT & 3TAR WA e frg o @R aar &

According to Vygotsky, cognitive development depends on

(a) FATHS IIFTAr/ mental maturity (o)  TRSF IRGEFAdr/ physical maturity
(0 H@aﬂiﬁl’ / genetics (d) THIfAF "9F / social interaction

“FIACS” @ HAd: Hl it &

Who is basically linked with “FIACS™?

(a) HMNET / Morrison (b) ST/ Flander
(¢) &a¢/Herbert (d) Tofe/ Lippitt

SGPA T Aded &

SGPA stands for

(a) Singular Grade Point Average (b)  Selective Grade Point Average
(c) Semester Grade Point Average (d) Semester Group Point Average
TARNT AATHT F FRIOT §

Traits of local leaders are
(a) IR a@Y9gar / Physical fitness (b) HAAF &HAT / Mental ability
() TAfa® TMEHOT / Social attitude (d) 3UEd A / All of the above

13
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59.

60.

61.

62.

RNETOT F TR F TASA P TEA B FAGAN IaRead

Arrange in sequential order, the structure of understanding the level of teaching

1. HIdA / Organisation
2.  3=a9ur/ Exploration
3. WEJfd/ Presentation
4. HHATT HLT / Assimilation
5. IS &Il / Recitation

(a) 34215 b)) 23415
(© 12345 d 41235

"grRfae TROTHT Z@RT IR T g1 far I &

“Discipline by natural consequences” is suggested by

(a) IMEETE / Idealism (b) HAEaEE / Humanism
(c) <ATAGTREaT / Pragmatism (d) QT%HE{/ Naturalism
T Rgd 4 AT 9 IR A § 9 F g aRenia Far
Which theory redefined psychology as the science of behaviour?

(a) <TIGBHAL / Behaviourism (b) TITAEE / Structuralism
(¢) wHHaRE/ Funci_:ionalism () TuUAKE / Associationism

FES A T el g

Intuitive Knowledge is attained through:

(a) aTE Hel3q / External experiences

(b) 3FARF g / Internal experiences

(¢) 3niafE R il arr HeyHd / Both internal and external experiences
(d) 3RIFd F A FE 78 / None of the above

14 1498



63.

64,

66.

66.

67.

TABTTET reg W T §

The word Pedagogy means

(a) Teror $r TS UF 31T / the method and practice of teaching

(b) = &1 AJFFT FET / to control the child
() €T &I HHT / to understand the child
(d) T FT TAE & / to advise the child

Rfafla & & i A 7w &

Which among the following is a democratic value?

(a) HZART / Fraternity (b) I/ Justice

(¢ AT / Equality (@ A T / All of these

Remdf-Hiea R w vwE e &

The cardinal principle of learner-centred education is:

(a) Fh WG / Learning by doing () ST HIWST / Learning by living

() @ (a) AR (b) / Both (a) and (b) (d) 390Fd F | P TG / None of the above

HEHTARIOT Fhr gihar &

Enculturation is the process of:

(a) GEU & 3 HeAl T 9T / Adopting the good values of others
(b) AT HERIT AT HUA AfFaT H HcATd HTAT/

Imbibing one’s own culture in one’s personality

() HEHId I GTRIBT FT THFT FIAT / Integrating the culture and traditions
@) I gEpfadl & {fa-Rarst 3R et H &HR T /

Accepting the customs and values of other cultures

ﬁmﬁ%aﬁ#@t—ﬁtagﬁﬁmﬁmma;mmﬁrmmmm

Which from the following should be used to decrease minor inappropriate behavior?
(a) WIHT/ praise () YFHPR/reward

{c) 3T/ ignorance (d) TE&N /strictness

15 1498



68.

69.

70.

71.

72.

edafear F Rer & R §

The objective of education in idealism is
(a) Fﬁﬁﬂ? fAuad FT yarer 31 99R / Transmission and promotion of cultural heritage
(b) 3rTevEl HT gﬂ'ﬁﬂi‘ﬂT / Reconstruction of experiences

(© Wer & ATETA ¥ W@ / Learning through discovery
(d) A IfRcafFd / Self expression

NCF 2015 & 3-aR Rare &1 gffw @ g afew
According to NCF 2015, the role of teacher has to be

(a) NFIRSE / authoritative (b)  AATARY / dictatorial

(c) 3FJHIES / permissive @  gfaereas / facilitative
ARE # TS R R@wt @ #en S gl

“National Education Day” in India is celebrated on

(a) 11 s1@« / 11** November () 14 F9€T / 14th November
(¢) 1 RHST /1%t December (d) 10 RHEX / 10t December

ReToT F AN & TR &H MAT &

Understanding level of teaching includes

) Fﬁﬁ' / memory
(i) JFIAT / aptitude

(iii) 37aE /insight
(iv) TIICHSAT / creativity

(@) ()3R Gi) /() and @) (b) (i) 3 (iid) / (ii) and (jii)
© @ A (iii) / (i) and (iii) (d) (ii) 3T (iv) / (i1) and (iv)

Siram-ena 1 HFURT RREd G@RT TRId A I
The concept of life space was put forward by

(a) dreHIIT Hge / Wolfgang Kohler ®) ¢ Hwet / Kurt Koffka
(¢) T&@Hs WEE / Sigmond Freud (@ &¢ AT / Kurt Lewin
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73.

74.

75.

76.

ﬁmwmmﬁmwﬁ,mgmm%aﬁaﬁammﬁwﬁﬁw
gicTl &, Y gl ST §

The field of study concerned with the construction of thought process including, remembering,
problem solving and decision making is called

(@) TRAETTART / pedagogy (b)  TEr / education

(¢) TATHIATET / epistemology (d) TAAHT AT / cognitive development

5F urRoT # g o Y @ F FEe g § 7w Iy wedipd @ 9§
Fgelc &

The principle of perception that, objects that are near each other tend to be grouped together
is known as

(a) GAMNHA / Closure (b) HAMRAT /Similarity

(¢) TPedr / Proximity (d Tawar / Continuity
v EF w1 a8 AgaqOT Hiere §

The most important skill of a teacher is

(a) ot W Tg THSTen fh RETF FAT FEd § / Making students understand what the

teacher says

®) 39 Ay & AT aeudH FT Fa FET / Covering the course prescribed in his
subject

() TR AT BTET P JoliadFet I / Keeping students relaxed while teaching
() TIAT 7 & FT AT/ Taking classes regularly

afe o ReTd: & TR T 3cal 761 & T ar
If the students could not answer a teacher’s question
() TBTF F Ica} adte AIfET / The teacher should tell the answer

(b) e @ Wt gAY Al ¥ YBeT TRT / The teacher should ask the question in another
manner

(¢) TETF I 3] IR-IN ST AMBT / The teacher should ask them again and again
(@) e # 3T &A1 AT AR I I W & AT FAr W@ / The teacher should

answer and ask to remember them

17 1498



71.

78.

79.

80.

gfIHTerTar B i &
Gifted students are:

(a) 3977 AUTET & Fad7 / Independent in their judgements
() el ¥ TG/ Independent of teachers

(¢) TEHE H 3-1?11:‘1,@ / Introvert in nature

(@ U= FEE & uia 3‘\?—33[:@"\" / Non-assertive of their needs

WHO & 38R RreiRraeer fa 3g oot & 3l 87
According to WHO which age group falls in adolescence?
(a) 10-20 @Y /10-20 years (b)  9-20 I /9-20 years

(¢ 13-19 ¥/ 13-19 years (d  10-19 T¥/ 10-19 years

frE FAARTRE S RRRiREE #§ qee AR aeE aeg e A
Which psychologist coined the terms “Storm and Stress” in adolescence?

(a) Fo& TA. g / Clark L. Hull (b) @H Pgeraar / Lawrence Kohlberg

(c) Tl giel / Stanley Hall (d) SRHA W / Jerome Bruner

ﬁmﬁ@aﬁmm#mﬁmmﬁmﬁﬂmm%ﬁmmﬂmaﬁm
Which one of the following is not suitable educational provision for slow learner children?

(a) 3YARICHS TABTOT / Remedial Teaching

(M) wfawgat & 91 / Avoiding Competition
(¢) aOT / Acceleration

(d) . d=fIT § §9e0 / Avoiding labeling
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81.

82.

83.

84.

85.

PART -1V

WHO & 3FT8R, Haielel TaRET H7 34 Toletel & g gge] & Tl wegmr g2

According to WHO, reproductive health means a total well-being in which aspect of

reproduction?

(2) IR / Physical
(b) AHITAS / Social

() #E=cA® HR =aggiR® / Emotional and behavioural

(d) IUUFT T’/ All of the above

farfaf@a # @ s v Fia g=fia Q91 (STD) FEF &7

Which of the following is not an STD?

(a) TA®TA / Syphilis o)
(c) TR/ HIV (d)
FAARAT fFa% FROT gaT &7

Malaria is caused by

(@) HRAT IR—RH / Corona Virus (b)
() “ArEHIEEH / Plasmodium (d)

Tfaf@a & & 7 @ & Sy 7
Which of the following is a bacterial disease?

(a) &</ Cholera - ®)
(c) WU/ Measles (d)

AETIRAH / Leptospirosis
IMMAIRAT / Gonorrhoea

TIBHIHISS / Trichophyton
TreAAT 59/ Salmonella Typhi

HUSHIAT / Mumps
Faar / Malaria

WA & WY GUH FASHT H FiRET Tafar Feend §

Immune response to first encounter with antigen is called

(a) HART/Memory

(b) wrufAF 9fawelr gfafsar/ Primary immune response
() wregfA® gfaver ufafshar/ Secondary immune response

(d). FellTer Tqst/ Clonal Selection

19

1498



86.

87.

88.

89.

90.

91.

PrefafET & & #i9 W gRd 9o ¥ TRE @ dar ¥

Which of the following is not transmitted by contaminated water?

(a) TIgHES/ Typhoid (b)
(c) fZcffRAr/ Diphtheria (d)

FOSHTAT, § 3R A F T FAWAT 7

toersfed A/ Hepatitis A
FATIAT / Amoebiasis

What is common between Mumps, Cholera and TB?

(a) WO 37/ Bacterial diseases ®)
(¢) R T/ Viral Diseases (d)
ST o1 o &

Interferons are part of

(a) HreEIfha SN/ Cytokine barrier ()

(¢) ¥ arerm/ Physiological barrier (d)

wfa v fafee faswar @

Memory is a characteristic feature of

(a) SeHAT UTARET / Innate immunity (b)

(c) Uarsit/ Allergy (d)

wEEES @ e g g1

Antibodies are secreted by

(a) A/ Neutrophils b)

(¢) <oceicH/ Platelets (d)

S faam ¥ T el §

Passive immunity is induced by

(a) @7l FIRABIC / Line cells (b)

(¢) WSS / Antibiotics G
20

WA A< / Protozoal diseases
FHIE A7/ Communicable diseases

#Hifas a1em/ Physical barrier
HATEGST / Masophages

T 9iaeTr / Acquired immunity

HaTer 91/ Fungal diseases

HE™T/ RBCs
fFpIasey / Lymphocytes

uTawefl / Antibodies
fae1i®eT / Vitamins
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92.

93.

94.

95.

96.

97.

AfeEager ARG FT v 3R ¥

An example of autoimmune diseases is

(a) dUfEEF / Tuberculosis (b) S AT/ Leprosy

() AT THANAT / Multiple Sclerosis (d)  FAEIddl ATIAAT / Multiple Myeloma

SR & ey wenfaa &¥ar g2

Leukaemia is cancer affecting

(a) HETH/Brain (b) T&d/Blood
(¢) FHEIRAT/ Muscles (d) 63%31‘! Bones
vzy frgs yaifda = arer ReR &2

AIDS i5 a disorder affecting
(a) df¥®r a7/ Nerve system
(b) HEATAAT / Muscles

(¢) FIRFT FEITY 9RET/ Cell mediated immunity
(d) 9RFEOT dF / Circulatory system

faeg $ux fegw &9 FART Far &2

World Cancer Day is observed on

(a) 31 fgmeT/ 31t December (b) 4 Fa{ / 4" February

(¢©) 1 Sy /1t January (d) 5 T&dEY/5t% September
ddh dedsm a0 % OFUF & fov AT o §

BCG Vaccine is used to prevent

(a) o9/ Plague (b) TBHES/ Typhoid

() &SI/ Cholera (d & VT/ Tuberculosis

TF W F vsH o Nea g1 F HSE &1 3T W & fov il F A= qdemor fr [

HEN

A patient is suspected to be suffering from AIDS. Which diagnostic test will you recommend

for the patient?

(a) ELISA (b) MRI
(c) IFd FEFTA/ Blood Culture (d) 3feerE33/ Ultrasound
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98.

99.

100.

101.

102.

Prafaf@d # & Sl $ar R & 707 a8 8

Which of the following is not a property of cancer cells?

(2) & 3RS adF & fFeafda 81 §/ they divide in an uncontrolled manner
(b) am@qﬁwaﬁ%ﬁvwﬁﬁﬁaﬂaﬁ%mmm%/mycmpew

with normal cells for vital nutrients

© T Tud &0 fe@ &/ they show contact inhibition
(d) 3SFT H a EF\%' Aal / none of the above

Reafafad # ¥ vada & qUR & v Renfat aaw B gar o1 geader fRar S &7

Which of the following substance(s) is/are misused by sports persons for improving
performance?

(a) U-ElTos VUGS / Anabolic Steroids

(b) Hﬁﬁéﬁ Eicy FS AT / Diuretics and certain hormones
(¢) ARMREH TATeA A / Narcotic Analgesics

(d) F9UFa FW/ All the above

e 3R FEE F T # Aifee HEar @ are siat S 98 fFelr Aol

The lowest category of organisms showing fundamental similarities in plant and animal
kingdoms

(a) WeNfA / Species (b)  IMOT/ Order
(0 9@/ Family (d)  SIeIT/ Genus

g AR A3 By 797 § wdRd 8

Felidae and Canidae belong to which animal order?

(a) HEERY / Carnivora () fEardsesan/ Artiodactyla
(¢) UTEREIEHE / Passeriformes (d)  FEAT / Chiroptera
Hes T EfaTE AT A AR § A ————— T ROA T

Binomial nomenclature for human being is Homo sapiens. The words indicate
(a) STl 3R IREAR/ Genus and Family  (b) Il A ST/ Kingdom and Genus
() ST 3T wofd / Genus and Species (d) &Y 3R Fnfd / Kingdom and Species

22 1498



103.

104.

105.

106.

107.

afdthr gerTEe # fraet aeaer Afor

How many obligate categories are there in taxonomic hierarchy?

(a) 4 (b) 5

© 2 @ 7

T AT R & & urg S arell Wl wenntardt i eaafiud w1 § Ao et § RN e
afered faaRoredh 8 ¢

A list that methodically enumerates all the species found in an area with brief description to
aid their identification:

(a) 9T/ Booklet ®)  F/ Key
(© e/ Catalogue (d TABTAI / Museum

fr=fifaa & @ a9 nFisdRar @ 6T
Which of the following belong to Archaebacteria?
1. AYASe" / Methanogens

2. gellPISel / Halophiles
3. UAMCfABRISTH / Thermoacidophites
4. WIAISFEIRAT / Cyanobacteria

(@ 1,231/and3 (b) 13/ and 4

© 2 3R /and 4 @ 3WNWITAY ﬂﬂé' v'-lﬁl None of the above
Foldlad T 872

What is flagellum?

(a) dFAORET 7 nfAMaar #r 3T/ Organ of motility in bacteria

(b) 3SNTAT F WS/ Segment of DNA
(c) e & et 3taRer f@eel / Semipermeable membrane madeup of proteins
(d) FIVFET H gag W Frag H T/ Slime layer over the surface of cells

sRRATITE gt w1 fAEr el dar ¥

Diatomaceous earth is produced by

(a) SISATHIRTH / Chrysophytes (b)  TEAIFITACH / Dinoflagellates
() FFe=3sH / Euglenoids (d $ras ¥ FF/ Slime moulds
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108. §=H FAELH §
Venus flytrap is

1. Srewefr gier/ Insectivorous plant
9 3ifdie ® q gXUEr/ Partially heterotrophic
3. &uY/ Autotrophic

4. UF UIidT/ A parasite

(a) 33X /and4 (b) Had 4 /4only

() 13R/and?2 (d) Fad 3 /3only
109. 9RRA ¢

Virus is

(a) SNfad Nl W gAAT A AT FaF & PR/ type of fungus attacking living organisms
(b) THh Hﬁﬂﬁm / a nucleoprotein
© RN a1 e F @y BAE @A ar FaE A OTHR/

type of fungus living in association with a bacteria or algae

(d) TE T HIIWH S / a photosynthetic organism

110. COVID-19 fFu® HROT 8idr &7

COVID-19 is caused by
(a) arRE forad DNA 319] 81 &/ Virus having DNA molecules
b) awE # ¥ T # wEs @ & e RNA 3] @ ¥/ Virus having RNA

molecules to encode their genes

(¢) ShaT] HHAUT / Bacterial infection

(d) I THAYT / Fungal infection

111. WRH%WWWW%E?WJ%?WH@?%
Five kingdom classification by RH Whittaker does not include the following
(a) aa® /Fungi (b) ©ee / Plantae

(¢) URAATAAT/ Animalia (d) WEIAERT/ Protomonera
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112.

113.

114.

115.

116.

AT S eaftE ER araTaRer # Aoy 0 €

Bacteria that exist in extreme saline environment

(a) geliled / Halococcus (b) FEIANFENAT/ Cyanobacteria
(¢) g&HIRIFHY / Thermococeus (d) RAYAHFHY / Methanococcus

Simplest free living prokaryotes is
(a) ATNTAFH / Methanothrix () <9AT YfISH / Treponema pallidum
() TAEAEFNAT/ Cyanobacteria (d)  FATEHITATSHT / Mycoplasma

TN Sl & wrufAE s §

Primary producers of aquatic food are

(a) TRIATEAH / Streptomyces (b) TASH AlesH / Slime moulds
(c) wIgeIcdEesT / Phytoplanktons (d) eTRIEH / Tetracoccus

qree #4182

What is yeast?

(a) oo THRIRRR, AfeRie Wifere / Flexible unicellular, ciliate protist

(b) IR-ATEAATA, THHITAHT JHRAT FdF / Non-mycelial, unicellular eukaryote fungus
(¢) uehdr IFATAT/ Parasitic bacteria

(d) TrarEed I8 3R ¥ §EY% & T Fa® / Fungus with filamentous bodies and long
hyphae )

TARFRIGTIFT FIT &2

What is glycocalyx?

(a) USRI WeAYEH JRINAT A {od SA AH / Pigmented lamellar material in
photosynthetic bacteria

(b) SRR F 3AATAT, 3R A FFE / Irregular, grape like clusters of bacteria
(©) FFETr Fr IR e/ Cell wall of bacteria
@ s fr FRE Bca F IRt 3R Rufew SRARAT 9ert / Sticky gelatinous

material surrounding the cell wall of bacteria
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117. BafRg & O seA & s & Fi a1 U9 I

Which of the following statements is true about diatoms?

(a) ¥ ST sl & grufA® 3cag® &/ They are primary producers of aquatic food

M) 3aFr @ qgd ATF 3T EET & T @ areir & / Their walls are very fragile and
easily destroyable

(© ¢ AU FAGE ¥ HG 2/ They belongs to the kingdom Monera

(d) & Uhid # 9Tl & / They are parasitic in nature

118. e TS [HTF FROT §iam 87

Black rot is caused by

(a) SUHAEE FFATEH / Xanthomonas campestris
(b) IESSIFURT S=iheced / Phytophthora infestans
(¢) JN=MATH 3RS / Xanthomonas oryzae

(@) yHATTFAESEEe" / Thermoacidophiles

119, FEAFARET 7 Ao FRYdEoT & TS Pl 41 82

Which is the site of Nitrogen fixation in cyanobacteria?
(a) ATAFH / Vesicles (b) FEAFAES/ Heterocyst
(c) ANAA/ Flagellum (d) 3SR / Arbuscles

120. REEE F Foaan wdiawiy oRfEfadl @ ggd e & aaed §
Mechanism in conifers to tolerate extreme environmental conditions is

(a) diEy gfcadt/ Broad leaves

b)) FE FUTH qrell ‘{E I 9feq™T / Needle like leaves with thick cuticle
(¢c) 3IHTga aTigsr / Exposed vessels

(@ TFEY T/ Superficial stomata
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121. Prafaf@a & ¥ ngadeh dul & ar F FiF @ FUF T B

Which of the following statements is incorrect about angiosperms?

(a) IE IS Ay A & oA £/ It undergoes unique double fertilization
b)) Ruer wEe § & T gIAS, T 5T R AR gfadRE Foe e g1a &/ Triple

fusion involves two male gametes, one egg cell and secondary nucleus
(© TIHEIST F 3¢ HOTAIY & / Product of triple fusion is endosperm

(d) ¥OTNY /O g % / Endosperm is haploid

122. AT & ¥ Fia PN 1 3cNE FaT &7
Which of the following produce Carrageen?
(a) ool $farer / Red algae by U darer / Brown algae
© EQT aTel / Green algae (@ 3IRed & F FE A/ None of the above

123. JEwdie frasr [T aaor 2
Eyespot is a characteristic feature of

(a) TIISUIMST / Spirogyra (b) FIFEESASH / Chlamydomonas
(© FAREFE/ Ulothrix (d) #rEr® / Nostoc

124. FARS 5 fFas 9 gy 82
Coralloid roots are possessed by
(a) WEHA/Cycas (b) UBA"/Pinus
(¢) FHE/Taxus (d) RAFIZAT/ Sequoia

125. TG ¥ Aot A & e & e stpRe A ERiE i 7 @ T

Why Pinus seeds cannot germinate and establish without fungal association?

(a) HT F Al HAAUST FT FaF AN §EAT AR €/ The inhibitors in its seeds are to be
removed by the fungus

(b) or wgd FAGR 3T 32 gar &/ Tts embryo is very fragile and unstable

(c) HOR &I RUT F Fadh ¢anr @ufed BFAT F=T § / Its hard seed coat is to be
decomposed by the fungus

() 9N dcE YET S H Fa% § TTY YREIRE HEH g/ It has mutualistic association
with the fungus in providing the nutrients
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126. PeRT # & o Aew F R F A A AFeTLN 87

Which of the following is important in the development of seed habit?

127.

128.

129.

130.

(a) 3T FREIHFZE / Dependent gametophyte

() ¥Fd & el AREHIST / Free living gametophyte
(© eI F fa@E / Development of heterospory

(@ e & fasrE / Homospory

oA @ TS gar fenioe fRar S §

Zygote is divided by meiosis in

(a) wgHd / Fucus (b) FIARAT/ Funaria

(¢) PIsHRd/Ficus (d) FAABSASH / Chlamydomonas

frafaf@a & @ Sl vafedr 8

Which of the following is monoecious?

(a) AU/ Chara

(b) HigHA GiFATaH / Cycas circinalis

(¢) HITEAT GiATHT / Marchantia polymorpha

(@) &N gdfiar/ Carica papaya

ufErt &1 Cafy Soaeet S arell 3T HieT AT &7

Which is the sound ‘producing organ of birds?

(a) TEEF/ Larynx (b) Il / Pharynx

(¢c) ¥ardstell / Trachea (@) TRFE/ Syrinx

frfafaT & ¥ #i9 a1 dfREs @

Which of the following is not a homeotherm?

() ¥/ Monkey (b) 3T/ Turtle

(¢) T/ Parrot (d) g3/ Leopard
28
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131.

132.

133.

134.

Pfaf@a & @ siv a1 93 & w7 & safAta w5

Which of the following represents Order of horse?

(a) INTTFEISAT/ Perissodactyla () @3/ Equidae

(¢) 9T/ Ferus (d) HIaH/ Caballus

] g

Peafowl is

(a) 3Mfafey / Oviparous () NAAfEURE / Ovoviviparous

(¢ fafody/ Viviparous (d) 3WaEFd F ¥ FF 767/ None of the above

What are flame cells?

(a) wifegera=daw & IcgaT 3/ Excretory organs of Platyhelminthes

(b) SAIYIAFHE H13 / Bioluminescent insects
(¢) ufEral & 3ER At & HIAHIT/ Cells in the alimentary canal of birds

(d) PTeicted A dHANET 3T/ Locomotive organ in Coelenterates

F FIAR FT AT FET AT &

Sorrow of Kashmir is
(a) dfearerdr / Salvinia (b)  3fFS/ Orchid
() SERA/ Dryopteris (d) HeAA/ Salmonella

135. =afRa # ¥ f5g 99 & g 1 va= g £

Which of the following plants have leaf tendrils?

(a) FFHar/ Cucumber (b) 3T/ Grapevines
(¢ ®HIX/Peas (d) 9dgr/ Papaya
29
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136.

137.

138.

139.

FTaf@a & O i a1 B v &

Which of the following is false fruit?

(a) AT/ Apple (b)  AGAT / Mulberry

(¢) TN/ Strawberry (d) 3I9Ed |97/ All of the above
afFgeH g

Vexillum is

(a) TafefAar v fAfRse faA9ar / Characteristic feature of liliacea

(b), INTAATATE HRAT HT A6 TGS / Standard petal of a papilionaceous corolla

{
(¢) ol # IS faAYaT/ Coronal feature in fruits
(@ 9=t fr e it ¥ FFds darel §a% I3 / Aerial roots arising from horizontal
branches of trees
e FERT # ¥ e aRar & Efa &
Paddy belongs to which of the following Family?
(a) Toferardt/ Liliaceae (b)  HEHET/ Solanaceae
(¢) 9ITHT/ Poaceae (@  AHif#sEY/ Orchidaceae
STSerA I AR R 82 €
Role of xylem is

(a) 9T F R F 3T AT s &1 INGET / Transport of organic food inside the body of
the plant

() WY & wWR & 3icT g 3T uiwed acar # 9f@@e / Transport of water and nutrients
inside the body of plant

(c) uler & ¥ F 3cT HIS HT FSWUT FAT ¢/ Stores food inside the plant body

(@ dier F adT v W FAT &/ Protect the plant body
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140. SFg i g9 Aad wa ¢

Innermost layer of the cortex is

(a) IHedecadal/ Endodermis ® ¥/ Pith
(¢) Afrarsfea / Pericycle (d) =%/ Nucleus
141. FTEEE gl

Lenticels are

(a) A 7 RART v O caafag RIRET & 8/ Areas of loosely arranged cells in the

periderm

(b) Wewhrgdr & IEAR A fAIFAR / Balloon like extensions of parenchyma
(©) H IR FuT T ¥ AARYT FIRAFT / Dead and compactly arranged cells

(d) Tagel S2al H UG d ag+] >de / Vascular tissues arranged into vascular bundles

142. FAZeIdi=gal # Iai® Bed Fm 7 frosd @Y areeg g &

Mitochondria has an inner membrane permeable to
(a) 2‘6@?!3{/ Glucose (b) ﬁﬂ@a / Cellulose
(c) TwEdY/ATP (d) gﬁfﬁf! Fructose

143. SSEEH FT AT S &

Lysosomes are produced by
(a) MM FlFcelFH / Golgi complex (b) HABTIsar / Mitochondria
() W@W! Leucoplasts (d)  USEEA / Ribosomes

144. defelier T Y&+ agee @

Cellulose is a linear polymer of

() B - DTHA/S — D glucose () a -DpEIST/a —D fructose
(¢ a —D7gde/a —D glucose (d B -D¥FISA/B - D fructose
A 31
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145. PeAfafEag & § 3 3 tilg i wae &

Identify the neutral amino acid from the following
(a) 37TAfei=T / Arginine () FeeiiAw RS/ Glutamic acid
() «sfAa/ Lysine (d dfesT/Valine

146. AT 1 Ruer 2fdea G- & et 1 379 4

Triple helical structure of collagen was discovered by

(a) U ald fi3a+el% / Anton Von Leeuwenhock

(b) TH. Tels /M. Schleiden
(¢) SH.UA.UAdUGA / G. N. Ramachandran
(@ 3. fagEr/ R. Virchow

147. EYOt Shiasze & waifier ygT A # Hla T AT IR S §?
Most abundant protein in the whole biosphere

(a) FfeERl/ RuBisCO (b)  @raatet /Collagen
(c) gﬁﬁﬂﬂnsuhn (d) EFealia /Haemoglobin

148, PrIfaf@a # & FiT a1 aga® 8 &7
Which of the following is pot a polymer ?

(a) UTeA&SS / Polysaccharides (b) gfFas TfAE/ Nucleic acid
() ToRZ/ Lipids (d) W/ Proteins

149. DNA sfagfar fra® ekt el &2
DNA replication takes place during

(a) Gi1TIOT/Gi1phase () Gz TOT/Gz phase
(¢©) S TIOT/S phase () WrheT / Prophase
150, 25°C 3 1 TYAVSE G R TF & FIeas H JRANF Gara §
Osmotic pressure of a pure solvent at 25°C and 1 atm is
(a) PH { Zero (b) FTHRIcHE / Negative
(¢) TH/One (@ 357 ¥ FE AE/ None of these
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151. T PR F Goar A & g AT gar §

The opening and closing of stomata cell is controlled by

(a) UREHAE A/ Epidermal cell (b) <r@ed/ Lenticels
() F\IRrer HIAFIT / Mesophyll cells (d) IS PRFT/ Guard cells

152. gsaifaed §

Hydroponics is
(a) To= @9 & Gyl &1 397/ Growing of plants without soil

(b) FEAE 92T & 4= dlei &1 §GAT / Growing of plants without organic matter

() 3I9gFd Gidsil & W Il H gty &1 §¢41/ Growing of plants in water with appropriate
minerals
(d) 39T T / All the above

153. TSP FARICARES & STHT &7 JeT & oI g §

Glycolate accumulate in chloroplasts when there is
(a) FTT CO: Higdr / High CO: concentration
(b) A CO2 UaEEAr/ Low CO:2 concentration

(c) oA dIHET / Low temperature
(d) 3= AT/ High temperature

154. 2R GRToT foraeh c@RT R ST EehaT 87

Somatic hybridisation can be done by

(a) &fgw FIRFRIT F1 FaI= / Fusion of somatic cells

(b) FeH GEFHA/ Callus culture
() 9qr Ii?ﬁ_?ﬁl Pollen culture
(@ H?.T:faTH Y9I / Haploid anther

155. fA==faf@a 7 A FiF AAwis &

Which of the following is monocarpic?

(a) Fegd / Jackfruit (b) I/ & wanfad / Bamboo species
(¢) IHAFS/ Guava (d) 99T/ Papaya
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156. GEq THET F scuRade huh carT IR fFar ST whdan 82
Mutations in plant cells can be induced by
() 3IPN3 T/ Infrared rays (b) AT fRTOT/ Gamma rays

(c) FA-fROT/ UV-rays (d) TXIA YHRI / Visible light

157. Peafaf@a & ¥ S a1 v vt giar 2

Which of the following is a medicinal pant?
(a) forcareefarar ABwART / Cryptostegia Grandiflora

() T 3FFT/ Coffee Arabica
(c) - T3afewar adfeear / Rauwolffia Serpentina
(d) TS 3NAVTHAT/ Brassica Oleracea

158. qitli & FAfAY fFa$ FROT g &7

Chlorosis in plants occurs due to

(a) 3TT §F F UHRT $T Al / High sunlight intensity

(b) FH GF F waHT H A/ Low sunlight intensity

¢ & ada LT FT FGANOT / Absorption of yellow pigment from the soil

(d) TEr & F9NfTw 3T 3R @1 F / Deficiency of Magnesium and Iron in the soil

159. gt gt & swRdd i @ afy # FEET =
Which hormone controls the tropic movement in plants?
(a) eUTFHT / Heteroauxin M) AT/ Gibberellin
(¢) @I / Cytokinin (d) 3FET/ Auxin

160, Tt 3 arSiieAo Y &0 A9 & AT fFE IURToT & e fRar S &
Which instrument is used to measure the rate of transpiration in plants?
(a) GRIHART/ Porometer (®b) @EHRT/ Potometer
() f~aAHEI/ Tensiometer (@  AFE=IART / Auxanometer
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161.

162.

163.

164.

165.

TATSHITS A T FIAOT ¢
Glycolysis is the conversion of

(a) ST FI HIERITATAIREIC # / Fructose into phosphoenolpyruvate

(b) FFEIT HI qrsede H / Fructose into pyruvate
(c) T[T N AIEHAC FH/ Glucose into pyruvate

(d) IS B BRWISAIAISEIE A / Glucose into phosphoenolpyruvate

el Fisfehd &1 q@T AA §

The other name of Krebs Cycle is

(a) SUAY AET/EMP pathway () uEfes vRAE U / Citric acid cycle
(¢) TABIHIFEAE % / Glyoxylate cycle (d) TABHIAC TH / Glycolate cycle

TeRTY TeeloT Fr gehrer 3RRRaT gl S B0
Where does the light reaction of photosynthesis take place?
(a) 34T/ Grana

(b) TEMAT/ Stroma

(c) HBEIESH / Cytoplasm
(d) UsIcenfsaA® IRFEA / Endoplasmic reticulum

TEY O B —— gl AT § 3R AE TIEaed @ 9 Fiar g

The outer whorl is called and consists of sepals.

(a) Fa=w/Calyx . (b) N/ Corolla

(¢) UEfRIA / Androecium (d)  TMSATRIAH / Gynaecium

AGHICHISAT 3T NhRAed d Bt giar ¢
Mycoplasma differs from other prokaryotes in

(a) T BT & FEfesr v 39fBUTT / presence of chitin in cell wall

() FEr Afea F =gR= fr 39RBUMA/ presence of murein in cell wall
(¢). HIfRF Bfca 3@‘1@% / absence of cell wall
@ +RFr BT F 9= Hr 3ufEATT / presence of protein in cell wall
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166. WS Faw &

167.

168.

169.

170.

All fungi are
(a) 3iETFT / Autotrophs (b)  &eVETFH / Heterotrophs
(c) grengiFd / Holotrophs (d)  USIETwH / Azotrophs

ORI AT FY TR e e e R & o w7

Chromosome structure can be observed best during

(a) UATHS / Anaphase (b) FATHA / Metaphase
(c) . WS / Prophase (d) 3UUFd H A FIS 761/ None of the above
SIfFAAeISsy I9E # J3d &

Nucleotides are joined together by

(a) mﬁﬂﬁﬁﬁﬁ %ot / Glycosidic linkage

(b) U=Es %S / Peptide linkage

(c) BE3IeA difegdT/ Hydrogen bonding

(d) PIERIETEET fd@sT / Phosphodiester linkage

frfafad 3 @ frg SRR F 3neAardy A Fgr S §?

Which of the fo]lowir;g cell organelles is called a suicidal bag?

(a) SEAIA / Lysosomes (b)  AesT AFRT / Golgi bodies
(¢) M Beell / Cell membrane (d) HABABISAT/ Mitochondria

—  ifaa 9y Fa% gl

is the living mechanical tissue.
(a) TEFALTHISHAT/ Sclerenchyma (b)  WeledsAT/ Collenchyma
(c) W=HIZAT/ Parenchyma (d) 3T G/ All of the above
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171.

172.

173.

174.

175.

TH ITEAT & NI, Ty SOT IR F R & ST g

During this stage, the mammalian embryo is embedded in the uterus.

(a) & TOT/ The dilation stage (b) SATERITAEE T0T/ The blastocyst stage
(¢) TorSHTEeT TXOT/ The expulsion stage  (d) 3778 & &S A4 / None of these

UF gfAEER H o, AR AT 9:3:3:1 Toa Aear § o ag axiar @
In a dihybrid cross, if you get 9:3:3:1 ratio it denotes that

(a) ETGﬁFﬁQ?WWQ‘TTa?mal?ﬁﬁ?fwﬁ%ltheallelesoftwogenesare

interacting with each other
() TE UF SESAAD dUTHA & /it is a multigenic inheritance
© IETE TATASH &7 AT £/ it is a case of multiple allelism

(@ @ A F v T@aT & F 797 & W § / the alleles of two genes are segregating
independently

wm@mﬁﬁﬁmmﬁwwﬁm%@mqaﬁﬁ%mﬁmwﬁwm
Farn 87

What is the term for the vertical distribution of different species occupying different levels in a
biotic community?

(a) TI-Ta=aTH / Stratification ®) A/ Pyramid
(¢) TaTe= / Divergence (d) == / Zonation

TR TFHFAT F UF FAF @RI AT T St 3o FIRAFBT 67 W@ & WhaAT F a2
THAT & T ©

The substance produced by a cell in viral infection that can protect other cells from further
infection is

(a) VIEIAT / Serotonin (®)  @reeeH / Colostrum
(© Et’fﬂﬂ'{'\l%-r { Interferon (d) TETCIAS / Histamine

————UF Had 30T B

is a vestigial organ.
(a) 3 fawdr / Intestinal villi () U/ Papillae
() aHTHE IRIAST / Vermiform appendix (d) IWRad H ¥ F1§ A&/ None of the above
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176. g AfFT ST Rew A qeIT FA §

The force that initiates evolution is

1717.

(a) TRe=1aT/ Variation (b)  3cIRads / Mutation
(¢) faeIied / Extinction (d)  37I%eie / Adaptation
giEofr erear &

Southern blotting is

(a) ST H DNA JEHET ¥ FASAT/ Attachment of probes to DNA fragments

®)

(©

(d)

TAFCIEREE I @ ARcicdellel e #F DNA 3l & TAIaR0T / Transfer of DNA

fragments from electrophoretic gel to a nitrocellulose sheet
AT 37T Hr & WAl F = / Comparison of DNA fragments to two sources

WM#MMﬁWWﬁWWITmns&mf
DNA fragments to electrophoretic gel from cellulose membrane ‘

178. I1: TAISF ST qFeld & AAH { RN R S &% @
The vaccines prepared through recombinant DNA technology are

179.

180.

(@
(b)
(©
(@

(@)
©

T O ¥ &F / Third generation vaccines
gl 9Iér & &1 / First-generation vaccines
gad 9gt & d%/ Second-generation vaccines
Eﬁé' #gT / None

TE 0T Ui & et yRRt F 3 o oE Sar Bl

is a condition where plaque builds up on the inside of arteries.

RAFETAW / Arthrocentesis () TYESAT/ Arthralgia ¢
aifsar / Arthritis (@  TIRFAITAH / Atherosclerosis

aﬁﬁmﬁmaﬁﬁm‘h@aﬁﬁm@mh

(a)
(b)
()
(d)

carries deoxygenated blood to the lungs from the right ventricle.
W ¢+ =T / Pulmonary artery

GFGHE RRT / Pulmonary vein

HeTHHeT / Aorta
IRFT H A &5 7181 / None of the above
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